1.

o] 2+

Al
ay

e

B
=¥

P-3x+1=09 %



F A A(-2,-1),B(1,3)= = AE ABE3: 1= &= H Q
L



=
=
7} o
=

1o
m%a%

o

Clk-
=

Zl
:Il

Ay=(@a+1)x-a+2,y=(a+2)x+27} B
steiat,

s}

[e)
=

o, a



4. A (3,-3)9 A4 x -y -4 =040l A S Faleizl.

>R
2%



5. 2-prtq=09 % Zola polth at+p=3 ap=2% 1 p>+¢
o] 3t Fatolat.

B
=¥



O|ZAA 242 —6x+ 1 =090 F 2L 0,88 S T, o + 3,

Zom ah oA ALY

®2x2_6x+1:0 @x2—6x+1:0
@ x2-7x+3=0 @ 2x2+6x—-1=0

B 292 -7x+3=0

afes

=
m



o]2HA] 2x2 — dx + 3 & HAS HLolA

@ (x-3)(2x+1)



A7t frelael o] E A k2 —ax+b =02 gF Fo] 24 V3 L
o, ab °] G127

@ -3 @ 0 @ 2
@ 4 ® 2+243



chg-o] o] 2pag Al dhat
t})
2 a, ﬁa' SHH

O|ZFLZG A ax® + bx+c =09 F

i + by +c = alx - a)(x- B) I,

A4 ax® +bx+c =02 F 22 a, B, D =b* -
D

2L okl (o - ) = - oIk
a

OJ A ax? + bx + ¢ = 0°] A& T}2

7}1171 ki ZE—}—ZﬂSab<OO]E}

@ o|ZPYAA x2 +ax+ b =0°] AR TE F

4 (a-20)x+b-ack R THE F IS Ze

O ax® + bx + ¢ =09 F T a, B —a}uﬂ

B= gaﬁ**(‘_,a#())

4dac

®
+



10.

AGONA A ax+ by +4 = 0 71419 A7} V3 L 0] @ + 2
2 w7

@ 4 @ 8 ® 3V2 @ 4 ® 243



OJAPTAFA (V24 1)x% +x - V2(V2 + 1)

11.

® 0 @ 1 G V2

@ -1

D -2



D x2-5x+6=0
® x2-41x+330=0

® x2-15x+12=0

@ ¥ -11x+30=0

@ x-7x+8=0



13.

D x24+4x+10=0 @ x2-4x+421=0

@ x2-4x-21=0 @ x> 4+4x+23=0

B x2—-4x+923=0

ZZa BT W, 201, 28-1



ol

ol

oy
il

@ 2 3 3 @ 4 3B 5

D 1



= Alg9] oA ax? + bx + ¢ = 0914 2] A4S

15. xof gt 4
- Vb2 —
THEND ZdC o m J)olslm Bo) £ o] _1, 25 AL}, o



16.

® -5

® -4

@ -3

|
&+ o

B -2



17. Al HAH] A(-2,1), B(2, 3), C(3,-2) = FolA= A3 9] ¢4

R E?



18.

24 919 F A A(-4), B(12) o Histed AB € 5: 3 0.2 Ut
HSP, ABE7:11 2 9Esk= H& QL &, PQ o 54
re?

@D -32 ® -13 3 6 ® 13 ® 32



19.

93 029 A A3, 6)
AEOPE2: 12
A2E FotA?

Yk
=%

Hq4EP
Atol 9]



ol
!

Tod

B ABE m:no2 Y&

A A, Bl tiste] &

CER

sholat,

:Il



